
RACINES 
CARRÉES



Calculer et donner le 
résultat sous une forme la 

plus simple possible.



N°0 : deux exemples
3723 

3273 
621
64362 
1002

20



N°1

 233  222



N°1

 222 233
27 8



N°2

3322  5223 



N°2

3322  5223 
66 106



N°3

2
54

2
36



N°3

20 18

2
54

2
36



N°4

 37  311



N°4

 37  311

77 1111



N°5

520  82 



N°5

2 5,0
2

1


520  82 



FIN


	Diapo 1
	Diapo 2
	Diapo 3
	Diapo 4
	Diapo 5
	Diapo 6
	Diapo 7
	Diapo 8
	Diapo 9
	Diapo 10
	Diapo 11
	Diapo 12
	Diapo 13
	Diapo 14

